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Skill Questions

1 Factor the expression:

x>+ 3z — 10

2  Factor the expression:

%+ 22 — 48

3 Factor the expression:

2 — 51 — 84

4 Factor the expression:

z2 + 20z + 99

5 Factor the expression:

a’® + 2ab + b
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6 Factor the expression:

222 — 17z + 8

7  Factor the expression:

322 + 11z — 42

8 Factor the expression:

82> + 6zy + ¢°

9 Solve the equation by factoring.

Tx2 — 27z —4 =10

10 Solve the equation by factoring.

322 — 23z = 36
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Applied Questions

11 Explain the error in the factoring problem below and make the correction.

6a’ + ab — b?
(6a + b)(a — b)

12 The sum of two numbers is 18 and the product of the two numbers is 56.
Find the two numbers.

13 Arectangular garden has an area of 96 square meters. The length of the
garden is 4 meters longer than its width. What are the dimensions of the
garden?
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14 Find the dimensions of the rectangle that has an area of 91 square inches.

r+6

15 Factor the expression completely:

3z* — 1122 — 4
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Answers
e )
Question Question Answers Standard
number
1 Factor the expression: (:B -+ 5)(:13 — 2) HSA-
SSE.B.3a
2’ + 3z — 10
2 Factor the expression: (x+8)(x —6) HSA-
SSE.B.3a
z? 4 2z — 48
3 Factor the expression: (x —12)(z + 7) HSA-
SSE.B.3a
z? — 5z — 84
4 Factor the expression: (x +9)(x +11) HSA-
SSE.B.3a
z? + 20z + 99
5 Factor the expression: (a+b)(a+b) HSA-
SSE.B.3a
a’ + 2ab + b*
6 Factor the expression: (22 —1)(x — 8) HSA-
SSE.B.3a
2z° — 17z + 8
7 Factor the expression: (3z — 7)(z + 6) HSA-
SSE.B.3a
3z + 11z — 42
8 Factor the expression: (2z + y)(4z + y) HSA-
SSE.B.3a
82 + 6xy + y2
o J
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p
Question

number

10

11

Question

Solve the equation by factoring.

Tx? — 2T —4 =0

Solve the equation by factoring.

322 — 23z = 36

Explain the error in the factoring
problem below and make the
correction.

6a® + ab — b°
(6a + b)(a — b)

Answers

(7c+1)(x-4)=0
7r+1=0 z-4
7x=-1 T =
-1
r=-73

=0
4

3z? - 231 = 36
322-232-36=0
(Bx+4)(x-9)=0
3xr+4=0 z-9=0
T=- % r=9
6a’ + ab — b*
(6a + b)(a — b)
The error is made in
the factors of the first
term. It shouldn’t be 6a
times a because when
you multiply the inside
terms and outside
terms you get +1ab
and -6ab which sums
to -5ab.

It should be factored
like this:

6a’ + ab — b?

(2a + b)(3a — b)

The inside terms
multiply to be 3ab and
the outside terms
multiply to be —2ab
which sum to +1ab.

Standard

HSA-
SSE.B.3a
HSA.REI.
B.4

HSA-
SSE.B.3a
HSA.REI.
B.4

HSA-
SSE.B.3a

~
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e )
Question Question Answers Standard
number
12 The sum of two numbers is 18 and z+y=18 HSA-
the product of the two numbers is xy =56 SSE.B.3a
56. Find the two numbers. HSA.REI.B
r=18-y 4
(18 -y)y =56
18y - y*= 56

«?+18y -56=0
y?- 18y +56 =0
- 4)(y-14) =0
y-4=019y-14=0

y=4 y=14
13 A rectangular garden has an area of Length:z + 4 HSA-
96 square meters. The length of the Width: SSE.B.3a
garden is 4 meters longer than its HSA.REI.
width. What are the dimensions of z(r+4)=96 B.4
the garden? 22+ 42=96
z® +42-96=0

(x+12)(z-8)=0
r=-12 x=28

-12 does not work
because you cannot
have a negative side
length, sox = 8 is the
value to use.

Length: 12
Width: 8
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e )
Question Question Answers Standard
number
14 Find the dimensions of the rectangle = z(z+ 6) =91 HSA-
that has an area of 91 square inches. 22 +62-91=0 SSE.B.3a
(x+13)(x-7)=0 HSA.REI.B
T+ 6 r=-13 x=7 4
-13 cannot be used
T because you cannot

have a negative side
length.

T =7 is the correct
value of x to use.

The dimensions of the
rectangle are 7 by 13.

15 Factor the expression completely: 3zt — 1122 — 4 HSA-
(3z% + 1)(z — 4) SSE.B.3a
3zt — 1122 — 4 (322 + 1)(z — 2)(z + 2)
\- /

thirdspacelearning.com/us/ Curriculum-aligned online one-on-one math lessons delivered by specialist STEM tutors



Do you have a group of students who
need a boost in math?

Each student could receive a personalized lesson every week from our
specialist one-on-one math tutors.

\/ Differentiated instruction for each student

\/ Aligned to your state’s standard

\/ Scaffolded learning to close gaps

Speak to us

[ thirdspacelearning.com/us/
e (929) 298-4593

9 hello@thirdspacelearning.com

‘ THIRD SPACE

v LEARNING



